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CHAPTER - 03 fasht v adeee &9 ¥ Saw
Private and Public Sector Enterprises
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Things to remember:

The Indian economy encompasses a diverse
range of business organizations, including
small and large, industrial and trading,
privately owned, and government-owned
entities. This economic landscape is divided
into two primary sectors: the private sector
and the public sector.

Private Sector:

The private sector is composed of businesses
owned by individuals or groups. Various
organizational structures can be found
within the private sector, including sole
proprietorships, partnerships, joint Hindu family
businesses, cooperatives, and companies.
These businesses operate independently of
direct government ownership or control.

Public Sector:

In contrast, the public sector consists of
organizations that are owned and managed
by the government. Public sector entities can
be either wholly or partially owned by the
central or state government.

Forms of Organizing Public Sector
Enterprises:

As the government participates in various
economic sectors, it necessitates specific
organizational frameworks to manage its
diverse enterprises. Public sector organizations
can take on different forms, depending on the
nature of their operations and their relationship
with the government. There are three primary
forms of public sector organization:

(i) Departmental Undertakings:




FET-11 (TGS TETTA)

Departmental undertakings are established as
integral departments of the ministry. These
enterprises function as an extension of the
government and operate under the direct
purview of the ministry.

(i) Statutory Corporations:

Statutory corporations are public enterprises
created through special acts of Parliament.
These acts define the scope of their
powers and functions, as well as the rules
and regulations governing their employees.
Statutory corporations are financially
independent entities that exercise control
over specific areas or types of commercial
activities.

(iii) Government Companies:

Government companies are firms in which
at least 51 percent of the capital is held
by the central or state government. In some
cases, partial government ownership is also
possible. Government companies may operate
in various sectors, providing opportunities for
government participation while incorporating
private ownership to a certain extent.

The role of the public sector in India's economy
has evolved significantly over the years:

Historical Role of Public Sector:

Initially, at the time of India's Independence,
public sector enterprises were envisioned to
play a pivotal role in achieving key economic
objectives. They were expected to contribute
either by directly participating in businesses
or by acting as catalysts for economic
development.

Transition in Economic Policies:

In the post-1990s era, India underwent a
transition marked by new economic policies that
emphasized liberalization, privatization, and
globalization. This shift led to a redefinition of
the public sector's role. It was no longer meant
to play a passive role but was encouraged to
actively participate and compete in the market
alongside private sector companies within the
same industry.

Development of Infrastructure:

The government's role in developing
infrastructure, such as transportation and
communication facilities, fuel and energy
sources, and basic and heavy industries,
was crucial for supporting industrialization.
The government's unique capacity to mobilize
substantial capital, coordinate industrial

construction, and provide training to technicians
and the workforce made it an essential player
in this context.

Regional Balance:

One of the significant objectives of planned
development was to ensure regional balance
by reducing disparities among states and
regions. To achieve this, the government had
to establish new enterprises in economically
backward areas while preventing the excessive
growth of the private sector in already
developed regions.

Economies of Scale:

The public sector's involvement was particularly
important in the establishment of large-scale
industries, which required substantial capital
investments to leverage economies of scale.
Such industries are critical for economic
development and growth.

Check on Concentration of Economic Power:

Public sector enterprises acted as a
counterbalance to the concentration of
economic power in the private sector. In
the private sector, only a few industrial
conglomerates were willing to invest in heavy
industries, leading to wealth concentration and
the encouragement of monopolistic practices.

Import Substitution:

During the second and third Five-Year Plan
periods, India aimed to achieve self-reliance
in various economic spheres. Public sector
companies, particularly those involved in heavy
engineering, were established to promote
import substitution.

In more recent years, government policies
have brought about significant changes in the
public sector:

Government Policy Changes Since 1991:

Since 1991, the government has adopted
policies to restructure and revive potentially
viable Public Sector Undertakings (PSUs).
Those who cannot be revived are subject to
closure, resulting in more efficient resource
allocation.

To promote broader public ownership and
participation, the government aimed to reduce
its equity stake in non-strategic PSUs to 26
percent or lower, while still fully protecting the
interests of workers.

The number of industries reserved for the
public sector was reduced from 17 to 8, and
subsequently to 3, allowing private sector




entry into most sectors to foster competition.

(c) Government (d) None of the above

Disinvestment  policies were introduced, 2. Aol 3UHAT ) Iuea fFad gfa axdt &
enabling the sale of PSU equity shares to (a) TiEe/ ST (b) aferm
both the private sector and the public. This & > ; )
strategy aligned with the government's decision (€ = (d) FIS el
to reduce its presence in the industrial sector. To whom are public enterprises accountable?
Sick public sector units were subjected to a (a) Parliamentarian/Public
policy similar to that applied to their private (b) Police
sector counterparts. The Board of Industrial L
and Financial Reconstruction determined (c)  Judiciary
whether such units should be restructured or (d) None of the above
closed. 3. WHA® 3THRAI F HETF Tell FE & God
A Memorandum of Understanding (MoU) system gt 81
was implemented to enhance performance. (a) facer &,
Under this system, PSU managements were (b) dFF &
granted greater autonomy while being held N
accountable for achieving specified results. () © q
. - (d) TR R FoIc &y &

The role of global enterprises, specifically ) _
Multinational Corporations (MNCs), became From where do public enterprises get the
increasingly significant in the Indian economy. necessary capital?
MNCs, with their substantial capital, foreign (a) From abroad.
collaborations, advanced technology, product (b) From banks.
innovation, marketing strategies, and E vate individual
centralized control, played a pivotal role in (c) From private individuals
India's economic landscape. (d) From budget provision by the government
Joint ventures, involving the pooling of 4. A Ad 3UFH HT AT IO F4T ¢l
resources and expertise from multiple (a) ofteinfiamur S sgrar
businesses to achieve specific goals, also I i
emerged as an important aspect of India's (b) ) el
business environment. (c) USEIR & FHar
Public-Private Partnerships (PPPs) gained (d) THREFR Hgf ol
prominence as a collaborative approach What is the social responsibility of a public
between the public and private sectors enterprise?
for efficient allocation and execution of (a) Promotion of industrialization
development projects. L _ L

) (b) Bringing economic inequality.
These policy changes have brought about Co
e . . : (c) Reduction in employment.
significant  transformations in the public T
sector, making it more competitive, reducing (d) Bringing monopoly tendency
government equity, and promoting private 5 = grer BT A R YER F IUHAT A qE ST
sector participation. Moreover, the roles of ¥
global enterprises, joint ventures, and PPPs S e 3UFA
have become central to India's economic (a) (b)
growth and development. (c) facelr 3usma CIIEEIEEERED

Red tapism is found in which types of
El?ﬁﬂﬂ%cﬁw' 9T undertakings?
9 . .
(MULTIPLE CHOICE QUESTIONS) (a) Private Enterprise.
(b) Cooperative Enterprise
HIdSIfeis 3ThA FT FGHT Pl §em & (c) Foreign Enterprise
(a) TAsieaf@Fa (b) 31H Sfefer (d) Public Enterprise
(c) |HR (d) STFT S AT g ool sumer A1 Tugen # Goh Read gRT oI
Who is the owner of a public enterprise? STt
(a) Private individual. (b) General public. (@) THR & ¢anl
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(b) arEgEr Tl safdFa ganrr 11.

(c) 8% ganr

(d) 3HTH SfeIdl TarRT

Who invests capital in setting up a private
enterprise?

(a) By the government

(b) By a courageous private individual

(c) By the bank

(d) By the general public 12.
7. S suma FE Won W ™ Fd §
(a) oI Fr RO
(b) VSR ghg Hr wRom
(c) HHTST &ar T 9IOT.
(d) 3TIFT FIg AET
On what motivation do private enterprises
work?
(a) Motivation of profit 13.
(b) Motivation of employment growth
(c) Motivation of social service
(d) None of the above
8. "IusiFwn € waluRk & Fw & #T AR ¥
(a) WS & (b) TEHRT &1 F
(c) fosh & (d) 3RIeT Tl
“Consumer is supreme” is the slogan of
which sector? 14.
(a) Public sector
(b) Co-operative sector.
(c) Private sector.
(d) All of the above
9. ofig favky Fw &7 & Rewar &
(a) Torsfr 3ushe (b) TYFT 3UHA
(c) TESfAsd 39hA  (d) IWIFd Tefr
Which field is characterized by quick 15.
decisions?
(a) Private undertaking(b) Joint undertaking
(c) Public undertaking (d) All of the above
10. 3nfde @ar &1 FLFOT F FieT NeATRd FIAT §
(a) HIFA 3UPH (b) TS 3UHA
(c) s 3usper (d) THERT 3UhA
What encourages centralization of economic
power? 16.
(a) Joint venture.
(b) Public undertaking
(c) Private undertaking
(d) Government undertaking
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s Rvaar # Fia &7 Je@ar §

(a) fash &1 (b) @SS &

(c) T &1 (d) PR Haree
Which sector increases economic inequality?
(a) Private Sector

(b) Public Sector

(c) Government Sector

(d) Cooperative Organization

Aasifas AT vd A a4 & i g8 asie’t #i
FIT FgT AT § °

(a) fosi & B fAf&T &7
(c) WS & (d) TEhRY &
What is the partnership between public

sector and private sector called?

(a) Private sector (b) Mixed sector

(c) Public sector (d) Cooperative sector
sl &1 & ey § Fe Fi aoer §

(@) PR (b) @A &

(c) ¥&d fash & (d) =araTer

Who makes laws regarding private sector
(a) Government

(b) Public sector

(c) Private sector itself.

(d) Court

atwor A wgfey Fegfa e gR & suFEA A
i e ¥

(a) fash & (b) FEPRT &F

(c) wEafais & (d) BT &7

In which type of enterprise is the tendency
of exploitation found?

(a) Private sector. (b) Cooperative sector
(c) Public sector (d) Mixed sector
arg dffear fFE yHR & 3uHAT H SIET ITE
STl &

(a) WSl & (b) AT &

(c) s & (d) 3RIFT FIg T80
Flexibility is found more in which type of
enterprises?

(a) Public sector (b) Mixed sector

(c) Private sector (d) None of the above
F F AR AT A A FadEar Fe 3w
# sarer g §

(a) AT & (b) FEaSIfAE &F

(c) fash & (d) 3uerd Tl

In which enterprise is there more freedom to
work and take decisions?




(@) Mixed sector
(c) Private sector

(b) Public sector
(d) All of the above

Restructuring of sick public sector units is
done by

17.  MNUARIET FT1 ded Fel AT IR-AT STl § (@ MOFA (b) MOU

(a) e &aF (b) TafT aF (co BIFR (d NRF

(c) wESfAH &F (d) fosir &= 23. UESfa® & Y shreal H QAfAder v ot

Where is the element of privacy found more? (a) WGSAfAH &F & FHAT 3 A A

(a) Co-operative sector (b) IRETET I d HAT

(b) Mixed sector (c) T &t & faaer

(c) Public sector (d) WrESTAR & 7 qoft e

(d) Private sector Disinvestment in public sector units means
18. WIS H&TT FIAT Hgl TGy & (a) Sale of equity shares in the public sector.

(a) fosh & (b) TEHNT &F (b) Discontinuation of operations.

(c) wdsifas &F (d) 3T S & (c) Investment in new sectors.

Where is it mandatory to conduct government (d) Capital infusion into the public sector.

audit? 24. umhT 3uFA & FEFAT & RO a¥ & 3ia

(a) Private Sector # gl TEdd #r et &

(b) Cooperative Sector (a) wHa/ faersrasm 7 (b) TsadTer @

(c) Public Sector (c) TeTeTFAT Y (d) =arare 7

(d) None of the above Where is the report of the activities of the
19, oRames & TadFar FE e o STl 3 gﬁza;tfmtﬁ:tayle:gdertaking presented at the

(a) fsft &3 (b) WESAAF & (a) In Parliament/Assembly

(c) s & (d) ST wh (b) To the Governor

Where is freedom in operation more? (c) To the Prime Minister

(a) Private sector (b) Public sector (d) In the court

(c) Mixed sector (d) All of the above 25. RUENT 39HA & wafeT FOFH Fe aar ¥
20. AR yauFl i fgfFa wET Ao (a) Wafr #H (b) oSt

(c) foash 3usher & (d) 577 & F1g et Who is the highest officer of a departmental

Where are professional managers appointed? undertaking?

(@) In government undertaking (a) Minister concerned

(b) In co-operative undertaking (b) CAG

(c) In private undertaking (c) Court

(d) None of these (d) All of the above
21. #RA & FdgaEdr & AT TWHEN 3UHA 26. fasmiT 39FA #1 3T §

(a) AT & (b) 3T=TaTH § (a) amer (b) Remaa

(c) oR ¢ (d) g =6l Hehdd (c) erer (d) R Yerd

Government  Undertakings for India's An example of a departmental undertaking

Economy is

(a) is necessary (b) is unnecessary (a) Bata (b) Reliance

(c) is a burden (d) can't say (c) Tata (d) Indian Railways
22. wETa® & 1 AR sFEAl f gaiEen s 27, Rl suEd & FeEr w1 FEan §

ERT Y STl § (a) R FAAL (b)) IEUTS FAAY

(@ T M TH T (b)) THNY () foshr aamdy (d) 3egarer AT

() & 3% T X (d) T IR TH What are the employees of departmental
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undertaking called? 32.

(@) Government employee
(b) Temporary employee
(c) Private employee

(d) Contract employee

dufas sryar o o A waed o frad
SRS Sret &

(@) WHR ganrr (b) sl garT

(c) fash s g (d) 3TH SeIdT ganr
By whom is the entire capital of a statutory
or public corporation invested?

28. fawmiT 3usHA f FATT T Fal JAT g §
(a) Ty & (a) By the government
(b) geuEt & a (b) By the banks
(c) farsh df o (c) By the private sector
(d) *EF A& (d) By the general public
Where is the entire income of the 33. ﬁ ol o ﬁéa:q@ il Wﬂ%# 7 51%
departmental undertaking deposited? '&"RT et
(@) In treasury (a) WEHH 'i ’ (b) 5”5'5"
(b) In managers' account (c) EHRT et (d) foFoft ahes
(C) In private banks A company in which at least 51% of its
(d) Nowhere total capital is invested by the government
is called
29. ?m 39HA H T FET 3R A e (a) Co-operative company
o7 3 (b) Mixed company
(E) By ::ﬁr \ #ﬁ N (c) Government company
z ; — \ a(;FT i 3% (d) Private company
C .
(d) SHREFT B 34. TWIHR HUAT H TYGAT HFH @
a) IR cdRT
Where is it considered appropriate to Eb; . N
establish a departmental undertaking? E'IEIa CSINE N
(a) in basic industries (c) a '”e\'ﬁ“ 1956 N
(b) in industries promoting exports (d) IRIFT FHT TR
(c) in profit making industries How is a government company established?
(d) none of the above (@) By the government
30. Wt wET wEUT FrEh TUeT wihe & Ry (b) By the Parliament.
T ZrI @ § Fa1 Fgandt § (c) Company Act 1956
(a) dufas fHerer (b) oS Fuetr (d) All the above
(c) TN HYeAT (d) 3WIFT Tl 35. S fodll TSR 3UFA FT gEy qUr fAIEor
What is a government institution established fersft il’l?émi'l ST § A 9§ e §
by a special Act of the Parliament called? (a) &S gRIvSRT 3uHA
(a) Statutory corporation (b) m\_ﬂﬁ* 39shH
(b) Private company (c) Wlff HYAT
(c) Government company (d) fash o=
of the above en a government undertaking is manage
(d) All of the ab Wh d king i d
31, dAenfare WO @1 saEor ¥ and controlled by a private board, it is called
(a) Shae & T (b) ReRig @ue (a) Board managed through undertaking
(C) 3msiaT (d) eTer Suar (b) Public undertaking
L (c) Government company
Example of statutory corporation is .
(a) Life Insurance Corporation (d) Private company
A SR o 5 W@ §
(c) Amazon (a) fsmet (b) 3
(d) Tata Company
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(c) dufas fHerer (d) TSt 39sha
Which sector is being given more emphasis in
the new industrial policy of the government?
(a) Departmental undertaking

(b) Government company

(c) Statutory corporation

(d) Private undertaking

(c) EIHRT HusAr (d) 3WIFd HIg FTE
What type of company is Coca Cola?

(a) Multinational company

(b) Local company

(c) Government company

(d) None of the above

42, TEUSET Hufaat FT WSEAS fraa o & gar
37. ofeifies Re @ seror § -
(a) TESfAd A (b) THRT HYA (a) wH (b) ar
() ol suss  (d) oo & S 4G (c) o (d) S ot &
Industrial Finance Corporation is example of In how many countries are multinational
(a) Public corporation companies registered?
(b) Government company. (@) one (b) two
(c) Departmental Undertaking (c) three (d) in many countries
(d) None of these 43. wEUSET FUfAEl FT GAT 32T FAT gl §
38. Romia sowa # o & (a) o7 ST (b) Farst Far
() War ST by T (c) VSR Folel (d) aer r e gig
(c) fAdeafar (d) & gsh What is. the main objective of multinational
Occurs in departmental undertaking companl.es? ,
(a) spirit of service (b) confidentiality EZ; Zj:iglgsz:sif:e
(c) frugality (d) all of these (c) Employment creation
39. ?ﬁ;ﬂ%ﬁ? oo ?U:ﬁ-@' F&TT (d) Economic growth of the country
a) HIhN &l T IGRELI . . :
(b) T A e 44, mmmaﬁa;m*mm
(c) HHE F 9fd Farace! (a) #ea et (b) Fo o
(d) & wef (c) foveet adt (d) T et ¥ forw
The main characteristics of a statutory For which class of people do multinational
corporation are companies make products?
(@) Complete control of the government (a) Middle class (b) Upper class
(b) Separate I?gal existe!'\ce (c) Lower class (d) For all classes
(c) Accountability to Parliament 45. uRG #F g a€ ¥ qeurd & S o
(d) All of these & SAGHTT 3T § S
40. Y FI$ 3THA ITA AH F MR faRa & 3+ (@) 1990 (b) 1991
Ut # el a1 aF Feond § (© 1992 (d) 1993
(a) WW (b) demferss W‘ In which year the business of multinational
(c) WHRT FHueir (d) 39T PIS TE companies is increased in India?
If an enterprise does business under its own (@) 1990 (b) 1991
ir:air:ecai:'lle;\'lany countries of the world, then () 1992 (d) 1993
(a) Global enterprise. 46. mwﬁw mrgnﬂ_ﬁ;;r%agr l
(b) Statutory undertaking. Feard & ° s I
(c) Government Company (a) TETSET A
(d) None of the above (b) e e ot
41, NPT BT FH TR A FaT § (c) TgFT 3THA
(a) TEUSE HA  (b) TG Feh
FET-11 (STTGATRAF 3TETT) 72



(d) 3WIFd T

When a company starts business in the
international market in collaboration with
enterprises of other countries, it is called

(b) increase in international trade
(c) Increase in foreign direct investment
(d) All of the above

e 51. HRd H IGRIHIOT HT FIT THT g3
(a) Multlinatlo.nal company ' (a) fazehr o g7z A aﬁg’ 2
(b) Pu.bllc private partnership (b) forefia & Elﬁ\r
(c) Joint venture () fawm & ax & aﬁ{
((.j) All of the above (d) RET Foh
47. ST SR # EFIIT e 8 What was the effect of liberalization in India?
(a) FARMT SIS # 3T S, (a) Increase in foreign exchange reserves
(b) W T efTet (b) Increase in exports
(c) TG & Fam. (c) Increase in the rate of growth
(d) I weht (d) All of the above
What are the b.enefits 9f joint venture ? 52. wETd awet # S el foroT RrEd T
(@) Easy entry into foreign market. e ST &
(b) Benefits of new technology. (a) oM@ (b) TEE
(c) Reduction in risk. (c) FEATTT (d) HERH HUeAT @R
(d) All of the above Who is the centralized control authority in
48. 9 UESA® AT Jur At a7 @y A a multinational company?
m;}iﬂwmmﬁﬁ%mww (a) Branches
(@) Frism B e © Heasuarer
(b) A STRA (d) Subsidiary Company
EZ; Wﬁﬁﬁ 53. ¥R # TEUSET HAferdl HT Heed
What is it called when the public sector (@) @8 q (b) T W E ]
and private sector together provide public (©) ﬂéqﬁaﬁv—r el (d) 3R Eﬁg Tl
services to the general public? Importance of MNCs in India
(a) Public Private Partnership (a) is decreasing. (b) is increasing.
(b) Global Venture (¢) No change. (d) none of the above
(c) Joint Venture 54. wdofew &7 AR Aol & vw gEt ¥
(d) None of the above (a) AT & (b) T&H &
49. SEUHT FHUA FT & g ¥ (c) faredr & (d) IR Tl
(a) wUET (b) IsET Public sector and private sector to each
(c) AR (d) T8 & FIS 7L other
The area of a multinational company is (a) is opposite (b) is complementary
(a) Local (b) National (c) is contradictory  (d) all of the above
(c) International. (d) none of these 55. #Rd i 9uA sieife Aifd Fa =8 7
50. RA # SANR & AFIOT FT FAT Y81T FIT (a) 1947 (b) 1948
(a) 3curee & aﬁg’ (c) 1956 (d) 1991
(b) 3RTSET AR # ghg When was India's first industrial policy
(©) s FRash T aﬁ{ zn?d:;M (b) 1948
(d) 3RFT T a
What was the impact of globalization of () 1956 (d) 1991
business in India? 56. HRAT rdcaaedr Fa vHR f §
(@) an increase in production. (a) fAfEa (b) FATSTATET
FET-11 (TGS TETTA) 73



57.

58.

59.

60.

61.
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(c) Telard) (d) 3R Fefr
What type of economy is India
(@) Mixed (b) Socialist

(c) Capitalist (d) All of the above
w8 & v e sahi A de
fraeh ¥

(@) 2 (b) 3

(c) 4 (d) 5

What is the number of industries reserved
for the public sector?
(@) 2

(c) 4

st Saitvt Y aerar @ ATdh Freh §

(@) VSR Y9Gl el &

(b) < F FHAET F

(c) e &

(d) 3R T

How is the success of private industries
measured?

(a) By providing employment

(b) By the amount of profit

(b) 3

(c) By paying tax 63.

(d) All of the above

T wfAfaar Fasain§ srat A SedT &
aadt §

(@) e 3T (b) TS 3emeT

(c) HEPRI 3T (d) 39RUTFa gl

Parliamentary committees can scrutinize the

actions of which industry? 64.

(a) Public Industry

(b) Private Industry

(c) Cooperative Industry
(d) All of the above

AF ITHAT F AHATTGIS IR T 7T &
(@) 379 FTEIfAAT & 9fd SwRelda

(b) 39 IEHT Fr gfd ITRERG

(c) YT HHCH & Yid IoRaIAd

(d) 3red |

Meaning of Social Responsibility of Public
Undertakings

(@) Responsibility to our owners 65.

(b) Responsibility to our customers
(c) Responsibility to our community
(d) All of the above

3N Y TERFIOT F AT §

(d) 5 62.

(@) TSI e &l EXHR GRT [AIF0T # ofer
(b) HTaSITeTen Il T fe¥Sir &1 I ol
(c) FIRFT gl F & HIS AL

(d) 3IRIFT grer

Nationalization of industries means

(a) Taking control of private industries by the
government

(b) Giving public industries to the private
sector

(c) None of the above

(d) Both of the above

USEIFIOT HT GG 3227 ¢

(@) oI SerAT

(b) & SATET =T

(c) @I T SITE ST AaT FI grAfASdr
(d) IS HT FRAAAT Tl

The main objective of nationalization is
(a) Increasing profits

(b) Paying more taxes

(c) Prioritizing public service over profit.
(d) Increasing efficiency of management

Shtast AT SHTaE™T FT ASEIHIOT Fa AT I4T
(a) 1957 (b) 1958

(c) 1959 (d) 1960

When was the life insurance business
nationalized?

(a) 1957 (b) 1958

(c) 1959 (d) 1960

YFA 81T Y TYTIAT FT FAT 3227 &

(a) TIASTeish &1F I TS TGl

(b) TS & & THBITFER FI Ahell

(c) TSk &3 A FATSHAE! HIGAT d&dr

(d) 3TWreFd aafr

What was the purpose of establishing the
Joint Venture?

(a) Poor performance of the public sector
(b) Restriction of a right of the private sector

(c) Increasing socialist sentiment in the
private sector.

(d) All of the above

3T U9 dR AaT R UHR & A6 IJTH g

(a) Taomir 3usma (b) TaATAS IUhA
(c) TSN HT=r (d) Q=|:=r‘€l1fr FYaAT
What type of public enterprises are Postal
and Telegraph Services?

(a) Departmental Undertaking




(b) Public Undertaking
(c) Government Company.
(d) holding company

What type of enterprise is Sony Company?
(a) Government company
(b) Joint venture

66. HRA & ¥ UFR &1 IR Jsh & R=efRa (c) Multinational company.
w®e (d) public company
(a) wafa® &1 (b) TIHNY &HYeAT -
(c) HIFT 3UHA (d) s & oUF FeAl HT Iccl
Which type of format is developing rapidly in (M C Q ANSWERS)
India 1 ¢ 2 A 3 D 4 A 5 D
(a) Public Sector. 6 B 7 A 8 C 9 A 10 C
(b) Government company 11 A 12 B 13 A 14 A 15 C
. 21 A 22 C 23 A 24 A 25 A
(d) Private sector . 26 D 27 A 28 A 29 A 30 A
67. ¥ TR F W F TG FA & 7@+ 31 A 32 A 33 C 34 C 35 A
qelt Y aeTSar @ § 3 D 37 A 33 D 39 D 40 A
(@) TIHRT HgeAT (b) FEISET FHYAT 41 A 42 A 43 A 44 B 45 B
o nd 46 C 47 D 48 A 49 C 50 D
() (d) FgFT ST 59 D 52 C 53 B 54 B 55 B
Which type of enterprise requires a lot of 56 A 57 B 58 B 5 A 60 D
capital to set up? 61 A 62 C 63 C 64 D 65 A
(a) Government company 66 D 67 B 68 B 69 B 70 C
(b) Multinational company.
(c) Private company. sifer T 3cd 0 weeT
(d) joint venture (Very Short Answer Questions)
68. W:ﬁmrmﬂ?#??ﬁ% 1.  Whdfas &9 & A9 F41 FHS
(@) Fom 3 (b) STelT A 3R A 8T A gART aread 37 FEst A gar
(c) @t & (d) @t & ¢ S SEEIRT H {AW Yo e F A
In which currency does the multinational WHR gRI FdfAcd, AT aar yafed & S
company invest? gl
(@) In Rupees. (b) in dollars. What do you understand by public sector?
(c) in both (d) in gold Ans: By public sector we mean those institutions
69. TEUSAT FUA F T A which are owned, controlled and managed
(a°) E;’Ii 3k 5 T T E gint:rzlg::glrigment to provide services to the
b) B¢ IR TIUET 3 ' "
(©) T ST 9 § 2. foh &% & o F T §
(c) FIg TR AgT =T & . .
(d) 3R @ I S &9 f1 FEarT gg gldr § S oy weAr
& 3527 ¥ fasl afFadl grrgerg, Fafa wa
With the arrival of the multinational company EEIBGECIRSIG I
(a) Small and Iocallindust.ries have increased What do you understand by private sector?
(b) Small and local industries have decreased.  aps. private sector organizations are those which
(c) Has no effect are run, controlled and managed by private
(d) All of the above individuals for the purpose of earning profit.
70. W FUT FH g A FIAT § 3. g adfa® A vd @S &89 F IuRAT Y Far
(a) WY FOr SraTaeET et ¥
(b) TIFT FUHH m:mm?%mmﬁﬁ%gwm;gwﬂﬁ
> : 3TH SfeAdr GE 39shA
() agIredra @ Ho forder SaeE A &
> . TRl & gfd |
(d) TTaSIfeIsh HYeAT e
Where does the accountability of public
FET-11 (STTGATRAF 3TETT) —




sector and private sector enterprises lie?

arell HUferal T TSI HAAAT FEd &

Ans: The public sector is accountable to the general What are multinational companies?
gg(t;)tl(l)cr ﬂ;rnot:?hritszz L;)rl; stggur?giléhetopr%a;ﬁ Ans: Companies doing business and management in
; P two or more countries are called multinational
investors. companies
4. WG 3EA : R SR BT 81 g el s ¥ s R A @ @0 E
mmm AGAT: AT FER BT © 30 TN HON F 3 AR F AoCAf & AH F
1 fasmelr Harast e T E
2 o foar In whose name are the shares of a
3 OIFNT HYaAT government company purchased?
How many types of public enterprises are Ans: Shares of a government company are
there? purchased in the name of the President of
. . India.
There are mainly three types of public
enterprises 10. FEATAS s FEEH F4T T
1 Departmental organization £t e e W ?’:;ﬂj? ary A
. . AT Teleh HATT YEleT shidl fadir, dehettehr
2 Public Corporation T gRETdd i@ #I 98T Y § d9 98
3 Government company Ao e AR FEa 2
5. fRemef wWeres & g F=m ¥HEA E What is public private partnership?
3 AN WiTed e 3UhA F1 Uk 9T Ans: When the private sector collaborates with the
g foraenr AT WHR & U HACT gy fhar public sector to provide public services and
ST § AR G9fa Ao & AN 39 Hafed bear the financial, technical and operational
AT gdr Bl risks, then it is called public private partnership.
What do you understand by departmental
organization? g 3cddd e
Departmental organization is a form of public (Short Answer Questions)
enterprise which is controlled by a ministry of ] ) )
the government. 1.  WESfA® 3UHAT & GHE T&I0N F TA
6. duifaw / A A9H FiT Feaar T W:Fﬁaﬁ%maimi@ﬁw%:-
a0 e TRl 3UsA T TUer @Ee ATyl A THR & Y A 3UhA HT TlA BTl &
foamaaast & Gy AT gried § ar a8 B TUNAT $ Y@ 3227 WA AdT T
A e Fgardh 8, S veramsn. | T Bl ¥
What is a statutory/public corporation? C TR Odal ¥ ST graeneT ar Srar &
If any undertaking is established by a special D Y9 H oo Hiar ey U9 FHEIATEr grar
act of the Parliament or regional assemblies, glar &
then it is called a public corporation, like L.I.C. E  @ige aur oo & Uiy saeed adr ¥
7. T Fuadt R e ¥ Explain the main characteristics of public
3T ;ﬁaﬂij_w‘é’r CosEif irsigr:m EF;Fﬁ @l & 6 enterprises.
3% aw_el' Gl &vH H vH 51% . . . . .
. - & N 38 T Su "*??T %) Ans: ;’r:_ main characteristics of public enterprises
what do you understand by government A The ownership of the enterprise is in the
company. hands of the government.
Ans: When a company is established under the B The main objective of the establishment
Company Law and at least 51% of its total is to provide social services
capital is invested by the government, then it ] ) o :
is called a government company C Flnanctlal provision is made from
government sources.
8. agUdw Huferai #i et aeht . .
D Red tapism and bureaucracy dominate
3 aT qr aT @- 3-1@7*7 é\-ar ﬂ- <dHT Ua- ‘;I_Q’U a“_{ﬁ the management_
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E There is accountability towards the

Parliament and the public.

4 37HEIOT -
IS &7 & TERT 3iRaTUT FaeT TeT A&T &
S Ordeifaier &7 I TIPRT heToT HIarm
ST BT gl

2. S & & aor ik gt F e

39T o7
A U A gufad Fefed & eI HE B What is the difference between the private
AT Bl & sector and public sector?

B ool ey &I 9ROT & A A & Ans: The main differences between private sector

C MuAIar & I Mg [y o=r arar & and public sector are as follows:-

D G&TdT Ud &fde IRSH &I 9Rom 9rit S1eir g 1 Establishment -

ay Private sector is established by private
e - individuals while the public sector is established

A ST ?f@r & g by the government.

B ) %HT et g &1 2 Objective -

c g?ff?ﬁr Tl 1 2leel Sa1e iffﬂT%"I. The main objective of the private sector is

D WA IRERA W & 7gT & & to earn profit, but the main objective of the

2 Explain the merits and demerits of the public sector is to benefit the society.
private sector. 3. Management -

Ans: Merits Private sector is managed by private
A There is freedom to work within the laws professional managers, on the contrary, public
prevalent in the country. sector is managed by government employees.
B Work with the motivation of personal gain 4. Audit -

C Decisions are taken quickly with Private sector is not required to get government

confidentiality audit done whereas public sector is required

o o ) to get government audit done.

D Inspiration of efficiency and hard work is

found 4. SO AT SEUSET IUHA FAT FEUT 3Irerar
: ﬁ'%T‘IT-lTE’ |

Demerits & g . N

A Economic power may be centralized L ¥ > +H

B Social interests may be ignored.. 1 Sl AU TH @ HAF &7 F giar &

C Scarce resources are over-exploited 2 Smg‘cﬁ'q s T T T REERD!

D Don't pay attention to social responsibility Rftrse gor & & & ST st W g g

3. oo 819 vq gaefa® & F i & F41 W & 3sm?rmgﬁ$a'ﬁh$$rqw1ﬁmm

3 IS 819 Ud ddellds & & @ v 3R § '
fefafad - 4 93 AT F 3cdTest quT faoRor HT I FH A
1 FTqaT - ©
sl & &1 Tumar el cafFaat grr @ Sy 5Wé’fﬂ$3<‘ﬁmlu aﬁﬂ%g?ﬁwamﬁww
¥ Safe adeae &7 A TATAT TWHR ZRT S R '

ST & What are the characteristics or features of a
2 3T- global or multinational enterprise?
oSt 87 &7 TIE 32T o FAGT @I §,Rd Ans: The main characteristics of global enterprises
St 8T H1 AT 3T AT H TR are as follows:-
qg?n?n giar Bl 1. Their business is done in more than one
3 gaer - region.
ol &7 T yay Rl s ey geeet & g 2. Global enterprises are basically established
T ST & sHdT Rl adafes & # yey in a specific country where they have their
T FRE gRr e B headquarters.
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Ans:

3 Modern
enterprises

technology is used in these

4 They do the work of production and
distribution in large quantities.

5 At the same time, global enterprises
place more emphasis on advertising and
salesmanship.

WIFA 3UHA TAIT B FT FIT FROT 3

3MTSTehel T 3UshH SITET TAMI gl ST I8 ¢,
Fify e Selufy v TR @l & ary
IEET & 22 IR & waw e AT &1 TWER
8 fASlr &Y 1 geer Hereldl 1 39 TR HTal
mﬁ%aﬂwmm@mﬂﬁ%m&é‘rﬁsﬁ
&9 & SeihTafort T HIGT 3 T gATSEEr o
@ﬁmﬁ%m%ﬁwmmww
FT P IR & @ &l ST 99 FRON & HROT &
3T HYFA 3THA ST TS &7 T &

What is the reason for setting up a joint
venture?

Nowadays, joint ventures are becoming more
established, because foreign industrialists
easily enter the domestic market with their local
partners. The government has also started
accepting the management efficiency of the
private sector and wants to take advantage of
it. The sentiments of the industrialists of the
region have also started becoming somewhat
socialist and they are getting ready to offer
their services jointly. Due to all these reasons,
more joint ventures are being established
today.

& IcalT wea

(Long Answer Type Questions)

FET-11 (TGS TETTA)

mm#mmmﬁ%m#
FHR Phdet STAaT §72

TS 2T 7 SYTH 1 aATell HUTIAT T TGS

¥ @ Teg § BT o aTer SR
aur fafag wa g s 9 faeme
ATYA BT § dUT Soioh 39 HRATAT dUT SHRETAT
3 gaf # @l S 1 39e §quT faeg A&
FUT JUA FT FAT

mmmaﬁqﬁﬁﬁa 7 fafse Oegar
mﬁemmﬁﬁwmwmg

3o AEIH ¥ U H WoRIR & 3aad 7 i
g &, & A 3ew adei iR Rl Ooh o
greT gl & AT 3MH ST Y 3eH TR
gﬁﬁﬁﬁéw%wwmwm

S TEUST HUAAT TAET  FrATASAIT

Ans:

3 wipfdes HaETeE & yAeT 3o 3Rd adl &
AT F S AR

4 3¢ IS AN & ITHET AT GEU o TR H
HLAT AT

5 So¢ WA IuElde &l G &l & T
IR off =T TR

What do you understand about a multinational
company? How useful is it in India?

Companies doing business in many countries
are called multinational companies. They are
established in one country and have their
headquarters from where they control and
regulate the business done all over the world.
They have huge financial resources and their
sub-offices and factories are opened in many
countries. To maintain efficient management
throughout their world, multinational companies
appoint professional managers with skilled,
trained and specialized qualifications.

Through these, employment opportunities
increase in the country, the country also gets
high technology and foreign capital and the
general public gets the opportunity to choose
among many types of goods.

Many multinational companies have
started focusing more on making profits,
ignoring national priorities, and at the same
time trying to create monopolies. It exploits
the country's natural resources in a haphazard
manner and uses its country's old technology
in other countries.

Utility in India -

After looking at the benefits and
disadvantages of multinational companies to
the country, we can say that their establishment
in a developing country like India can be
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beneficial if they are established with certain
conditions like: -

1 They should take only a part of the profit to
their country and provision should be made to
invest some part of the profit in India itself.

2. Their interference in local politics should be
stopped.

3. Natural resources should be allowed to be
used with appropriate conditions.

4 They should also prepare items for the
consumption of poor people.

5 They should also be motivated to fulfill
social responsibilities.

St 3UHA & FHRI F a0 TUT 3% o
& 3 F TS H

1 HITSTcHS iS¢ ¥ Adeifaiesh 39shd & Aeafaf@d

JPR 8 Thd &.-
A faarefT 3usa
B dnfas e
C THRT Helr
D 13 gRT Y&Y JSTehiT 3UhaT
E fafsa warfaca arel s

A i 3uswa- QAR 3usA gaofas
3UHH HT 9% &9 ¢ TSTEH 3UHA HI QU TIiAcT
TRER F I & & 3R o uee TWHR &
Y FHATT gR1 AT ST &1 SghT TAYSAT &
AT 90T faq T cgaedr EER gRI AT ATl &
T U TATT 3T o F AT @ ¥ 3R
SHS AT HT T HRETUT TIAR GRI haT I
FHIET SATaT gl

B dufaw - dunflaes /e [@ere v oy
FEAT § TR TATYAT Fg 37T ToT TWHR &
forell T4 SIefel & IR gl § §laT & 3are<or
F T LIC | sHdr @@ At & ffeRor
A WFR FAT & dfraT e ufafed & gauhr
3R T FRIT F 38 HY TadIar wred gidr 2

C WIHM FYAT ;- TFIHRT HUT HI 37T T v
ST @ § TIHRT TAIAT Fuell dhisfe 1956 AT
2013%734Wg3rrg‘r3ﬂtmﬁamaw
qsﬁwam?fwm% HIT $AT TFR 3rerar
T TRHR R IIT = & T el v & urg
8Tl 3T YR THNRT 3Ushd H TPR Tdh LTy
T AT §

D & ZRT Y6 UIHIT 3IUHhA- Sd JolhT
3UHAT H J§Y AT NS gRIGTr & ar ag a8
I7 gAY weftd TethrT TEAT Fgaldl g1 ST
gfafaat ar N5 Hr TATIAT FT 32T AT g MY
fA0Tg & U7 eueeT HET B

E &g wafdca arer @9 - Bf8a warfaca
arel {3 &1 37197 39 et @ § oud WeR
37 ®9 & 3a R_fEAT et § 3R geus g

Ans:

SHAEAT T A qUT 31ar fAF &7 4 s &
W B &ar B

AEsfa® 3UHH & R[ffieT 9T & J3e7 ]
1 TYYAT:-

AP 3uhd WERT [AHAET a1 F7A6T R
T a ga gl

Jurfaes oo Tac faereasT a1 o & faow
itz R efad gld &1 TR Yl R
FHIeAT Felet 2013 F 3TER TS gl g

2 -
%mﬂam@rqsﬁmaﬁrmwm
RIS &7 Srdr & |

denfeieh faTd H Yol AR GRIYGTT &l il &

WHRT Ul H 7gAdH 51% Yoll PR GRI
mgﬁ%mﬁsﬁmﬂaﬁmmm
Hehall gl

33TRH-?IT-IT'

%ﬂnﬂamaﬂmﬁ TS GR&T 3fe F
forT 3ugea g

dernfereh fere sfenfier Sushal & fow 3uged gl

TR =T Be] Ua fagel fo¥sil goit T smefiery
ﬁ?ﬁﬁmﬁ%

4 TETF:--
Il 3ushe & TeTg TR FHARY 81 & |

JuTfae I & FAARAT &1 TS [T gry
@ T ST gl

WHR FIAT & FAARAT T TIT YT GRT
fopar Srar g
5 3cTeIor:--
FHmiT 3Usad & 30T § YIe0d, 316 faHmT|

Jufae RTH & 30T & 3RS, ISR NIE
THITS

WM%W%W el Sfear
|

Explain the types of public enterprises and
explain the difference between them.

From the organizational point of view, public
enterprises can be of the following types:-

A Departmental Undertaking

B Statutory corporation

C Government company

D Government undertaking managed by board
E Mixed ownership corporation

A Departmental Undertaking:- Departmental
Undertaking is that form of public undertaking
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in which the full ownership of the undertaking
remains with the government and which is
managed by a ministry of the government.
At the time of its establishment, the entire
finance is arranged by the government and
all its income is deposited in the treasury and
all its works are audited by the government
through CAG.

B Statutory Corporation:- Statutory /
Public Corporation is an institution which is
established by the passing of any special
law of the Central or State Government, for
example L.I.C. Its general policies are decided
by the government but it enjoys considerable
independence in day-to-day managerial and
financial functions.

C Government Company:- Government
company means a company which s
established in accordance with the Companies
Act 1956 or 2013 and in which at least 51%
of the paid-up capital is held by the Central
Government or State Government or either of
them. The government becomes a shareholder
in the government undertaking.

D Government Undertakings managed by
Board:- When government undertakings are
managed by a private board then it is called
a board or committee managed government
institution. The purpose of establishing these
committees or boards is flexibility and to
develop the qualities of quick decision.

E Mixed ownership corporations: Mixed
ownership corporations mean those institutions
in which the government partially invests the
money and leaves the work of management
and administration completely or partially to
the private sector.

Difference between different types of PSU

1 Establishment:- Departmental undertakings
are set up by a government department or
ministry. Statutory corporation are established
by special Act of parliament. The government
company is established as per the Indian
Companies Act 2013.

2 Capital:- The capital of departmental
undertakings is provided by the budgetary
provision of the government. In a statutory
corporation the capital is provided by the
government. In a government company,
minimum 51% of the capital is invested by
the government and the rest can be invested
by private partnership.

3 Suitability:- Departmental undertaking is
suitable for public utility, national security etc.

Statutory corporation is suitable for industrial
undertakings. Government company is suitable
for participation of domestic and foreign private
capital.

4 Staff:- The members of departmental
undertakings are government employees.
The employees of a statutory corporation are
selected by the corporation itself. Government
company employees are selected by the
company.

5 Example:- Examples of departmental
undertakings are Railways, Postal Department.
Examples of statutory corporations are RBI,
IDBI, SBI. Example of government company
is HMT, Coal India, GAIL.

Adeid &7 FT 741 HT g1 Adoed &aF Y
eell g8 (AP F qaC|

. gIdolieles 3UhA oI 3T T 0 sfenfie

giofoas a1 IEaE¥s 39%d F § S
Taiffca geer 3 d9ree $g ToT A7 TR
TSR 3Yar Rl 3T olih AT o 30T & |

A & e ARt & gedee 8 #r
e FTadIdT Iifed & THAT T FH A9
@ 2l 8H Ia € fr [ [Jaeier TR & afea
TEAeT & foar ds o ger 3 A A8 <
HehdT &1 ST 399N JATT YeTeT e &, TR
qGrolT g, e T4 T ool e g1, Hfold
Seifiien faeTe iell &1, THTRIHR IRFR U
W Ah AT gLASET AT &1 3T gmeT
AT g T gt & v adafas 3uma #+r
T ST 3T g AT g

grasifaes 39 & Fs PR & Tohd &

A Tl Harest

B ol folard

C &R FHelr

D 313 gRT Y&y JISTehiT 3UhaA

E fafsa warfaca arer e

I GRR F HASHAT F HUA-3IS A T &
¥ qor R @1 o reEr-3rerT RUfY aer Swd

aeThdl & HJAR  THR R T foma
ST Bl

A AF AT FT agadT Fae AT HfAFT

HRd A Adefds & T fAeT w$ asi @
Wqﬁa‘cﬁrﬁ@aﬂmrﬁr%lm
&7 & 3UPA ST 1948 F 1990 T R TR
Ud fadhE # W & I [@Fsd o 81 39 g
ﬂmﬁmaﬁw%%wﬁ%ﬂ:ﬁaﬁ
I Seifie 3R aIoifSTs &F & &7 aur
I AT ST IWel UG FHRAA AN TeTel el
# 3t @ oS Bl

HRA AR & Fells 1991 #H el 75 3T
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What is mean by public sector? Explain the
changed role of public sector.

Public undertaking means any industrial,
commercial or business undertaking whose
ownership, management and operation is
under the central, state or local government
or any other public institution.

The contribution of the public sector in the
economic activities of the society has been
quite extensive since independence. We
know that no country can achieve economic
development without the active support of
a prudent government. To provide public
utility services, to increase employment, to
accelerate economic development, to have
balanced industrial development, to stop
monopoly tendencies, to make proper use of
national resources, it becomes necessary to
establish a public enterprise.

There can be many types of public enterprises
A Departmental organization

B Public Corporation

C Government company

D Government undertaking managed by board
E Mixed ownership corporations

All types of organizations have their own
merits and demerits and any one is established
by the government according to the different
situation and urgent need.

Changing nature or role of public sector

The role of the public sector in India has
been undergoing extensive changes over the
years. Public sector enterprises which were
continuously expanding and developing from
1948 to 1990 have now started shrinking. It
is now being realized that the responsibility of
the government is now less in the industrial
and commercial sectors and more in keeping
the country safe and providing efficient
governance.

The Government of India announced its new
economic policy in July 1991. In this policy
the following decisions were taken for public
enterprises: -

1 Industries reserved for the public sector
were reduced from 17 to 3.

2 Shares of sick or loss making public
enterprises will be disinvested.

After this, the government is encouraging
the private sector to invest in new areas.
At present, the private sector has also got
the work of manufacturing defense equipment.
Now the public sector has a right only in
railways and nuclear power. However, public
enterprises which are not in the critical
sector and are running sick are being rapidly
privatized. New employees are not being
appointed in the public sector. Besides, old
employees are also being reduced under the
Voluntary Retirement Scheme (VRS).

If public enterprises have to be revived,
professional managers will have to be brought
in, political and bureaucratic interference will
have to be eliminated and at the time of
disinvestment, the share of the public sector
will have to be sold to general public instead
of private sector.
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